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TOURISM ADMINISTRATION AND MANAGEMENT
PAPER —1II

Note : This paper contains fifty (50) Multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1. International Civil Aviation Organisation (ICAO) is based at :
(A) Montreal (B) Madrid (C) Manila (D) Maryland

2. Who created the world’s largest theme park ?

(A) Walt Disney (B) Steven Spielberg
(C) Sir Freddie Laker (D) Thomas Cook
3.  ‘Rameshwaram Temple’ is an example of :
(A) Vesara Style (B) Nagara Style
(C) Gaja Prishta Style (D) Dravidian Style
4.  Which one of the following is not a part of natural tourism resource ?
(A) Desert (B) Beach (C) Mountain (D) Palace

5.  World’s largest hotel Franchise System is :
(A) Holiday Inn Worldwide (B) Best Western International
(C) Hospitality Franchise System (D) Sheraton International

6. “Heavy breakfast” is provided in :

(A) Continental Plan (B) American Plan
(C) Modified American Plan (D) English Plan

7.  The commercial jet air travel was pioneered by Great Britain in the year :
(A) 1942 (B) 1952 (©) 1962 (D) 1972

8.  Which one of the following three letter coded are used by airlines and others in
reservations time tables / ticketing ?
(A) Code denoting airlines (B) Code denoting cities / airports
(C) Codes denoting countries / states (D) Codes denoting class of flights
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9.  Which one of the following theories is not aimed at explaining motivation ?
(A) Maslow’s theory (B) Path goal theory
(C) Vrooms theory (D) ERG theory

10. The first Indian travel agency opened office overseas was :
(A) SITA (B) SOTC (C) ORBIT (D) TCI

11. What is the marketing strategy adopted in Japan ?
(A) Product led approach (B) Traditional Marketing
(C) Consumer led approach (D) Contingency

12. In Tourism industry which one of the following describe the relationship between
demand and supply better.

(A) Stable demand and flexible supply
(B) Volatile demand and flexible supply
(©

(D)

Volatile demand and fixed supply
Stable demand and fixed supply

13. Barriers to communication would include
(A) Semantic
B) Physical and Psychological
) Physical, Psychological, Semantic & Organisational
D) Interpersonal

14. Interaction between two cultures is known as :
(A) Acclimatisation (B) Acculturation

(C) Famaliarisation (D) Naturalisation
15. A Technique used to analyse proposed causal relations between variables is known as :
(A) Path analysis (B) Variable analysis

(C) Multiple analysis (D) Regression analysis

16. The test of significance for large samples is carried through by finding :

>

(A) The difference between a sample mean (x) and the population mean ()
(B) The difference between the modes calculated

(C) The average

(D) The median

o
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17.

18.

19.

20.

21.

22.

Which of the following is not an element / principle of scientific management ?
(A) Work study (B) Scientific task planning

(C) Scalar chain of command (D) Standarisation and simplification

Managers are averse to delegation of powers because of :

(A) Non-tolerance of mistakes

(B) Fear of losing importance
(C) Lack of trust and confidence in subordinates
(D) All the above

The working capital is affected when there is a :

(A) Simultaneous increase in current assets and current liabilities

(B) Simultaneous decrease in current assets and current liabilities
(C) An increase or decrease in current assets or current liabilities
(D) A decrease or increase in capital assets.

Profitability index may be calculated by following one of the formula given below :

(A) Average income / Average investment

(B) Average income / Average investment X 100

(C) Present value of cash outflows / present value of cash inflows

(D) Present value of cash inflows / present value of cash outflows

Assertion (A) : Taj Mahal is thronged by people of the world throughout the year.

Reason (R) : The effect of infrastructure development leads to environmental deg-
radation.

(A) Both (A) and (R) true

(B) Both (A) and (R) true, but (R) is not the correct explanation

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

Assertion (A) : A travel agency is the business unit, which acts as a channel in
catalysing the promotion of various travel related services.

Reason (R) : The travel agency can be referred as the wholesale unit of the services
offered by the other sellers to the customers.

(A) Both (A) and (R) true

(B) Both (A) and (R) true, but (R) is not the correct explanation
(C) (A)is true, but (R) is false

(D) (A) is false, but (R) is true
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27.

28.

29.

30.

Assertion (A) : Physical planning and area development are very essential for
environmental improvement in Tourism.

Reason (R) : High density accommodations for tourism right will be tolerated.

(A) Both (A) and (R) true

(B) Both (A) and (R) true, but (R) is not the correct explanation
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

Assertion (A) : Researchers must be willing to share the information they collect and
transform possibly complex, economic, social or ecological data into
accessible information for lay - people.

Reason (R) : This enable them to make decisions, but were not empowered to
implement them themselves.

(A) Both (A) and (R) true

(B) Both (A) and (R) true, but (R) is not the correct explanation
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

Assertion (A) : The government plays not only the key role, but also pioneering role
in financing tourism.

Reason (R) : The private sector has always been investing in tourist projects where
the risk factor is relatively high.

(A) Both (A) and (R) true

(B) Both (A) and (R) true, but (R) is not the correct explanation
(C) (A)is true, but (R) is false

(D) (A) is false, but (R) is true

Assertion (A) : The Cellular Jail constructed by the Britishers is a pilgrim destination
and now dedicated to the Nation as a National Memorial in Andamans.

Reason (R) : The Britishers used to harbour convicts here.

(A) Both (A) and (R) true

(B) Both (A) and (R) true, but (R) is not the correct explanation
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true
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31.

32.

33.

34.

Arrange the order of the functions of the conference management :

(A) Venue management, Accommodation, Transportation, Catering facilities,
Excursions and Entertainment, Budgeting, Marketing.

(B) Transportation, Accommodation, Catering facilities, Venue management,
Excursions and Entertainment, Budgeting, Marketing.

(C) Venue management, Budgeting, Accommodation, Transportation, Catering
facilities, Excursions and Entertainment, Marketing.

(D) Marketing, Budgeting, Transportation, Accommodation, Catering facilities, Venue
management, Excursions, and entertainment,

Arrange the following systems in which they appear :

(A) Safety needs, social needs, ego needs, physiological needs, self actualization needs.

(B) Physiological needs, safety needs, social needs, ego needs, self actualization needs.
(C) Physiological needs, social needs, safety needs, ego needs, self actualization needs.
(D) Self actualization needs, ego needs, safety needs, social needs, physiological needs.

Arrange the following systems in which they appeared. Use the code given below :
(i) Thomson’'s Top System

(i) Compact Programmed Airlines Reservation Systems

(iii) Programmed Airlines Reservation Systems

(iv) Skytrack Systems

code : (A) (i) @G) (@) (@v)
(B) () () () ()
© (v) @) @ ()
D) @ @) @) ()

Arrange the following National Parks in the order of area occupied by each. Use the
code given below (In Ascending Order) :

(i) Dachigam National Park
(if) Jim Corbett National Park
(iii) Kaziranga National Park
(iv) Gir National Park

code : (A) (@) (@) @{i) @{Gv)
B) @ (v) (D) ()
© @ G @@ (@v)
(D) @@ @) @ (1)
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35. Arrange the following works in order in which they appeared. Use the code given
below :

(i) Meghadutam

(i) Mattavilasaprahasana
(iii) Arthasastra

(iv) Amuktamalyada

code : (A) (@) (i) (v) (i)
(B) @) (v) @ (i)
Q) (D) (v) @) ()
(D) @) @ @) (@)

36. Arrange the following philosophies in order which they appeared. Use the code given
below :

(i) Dwaitavada

(i) Adwaitavada

(iii) Vaiseshika

(iv) Visishtadwaita vada

code : (A) (@) (@Gv) (1) (i)
B (i) ) @) @)
© (i) () (v @
D) () O @) @)

37. Arrange the following in order of their existence. Use the code given below :

i IATA

(ii) International Tourist Year

(iii) WTO

(iv) Eurotunnel

code : (A) (@) (@v) (@) (i)
® O (v @) )
© () @) @) @v)
D) () @) () @

38. Arrange the following monuments in order in which they appeared. Use the code
given below :

(i) Alai Darwaja
(i) Qutub Minar
(iii) Jama Masjid

(iv) Taj Mahal

code : (A) (@) (i) @{i) (@{v)
(B) @@ @) @ ()
© @) @ @ (@v)
(D) () @@ @) @Gv)
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39. Matching Items :
List - I List - II
(Dynasty) (Names of the Temples)
(a) Pallava (i) Ramappa Temple
(b) Rashtrakuta (i) Hazararama Temple
(c) Kakatiya (i) Varadaraja Temple
(d) Vijayanagara (iv) Kailasanatha Temple
code : @ @) () ()
@) (O G (v G
B () v O G
© v O @) (i)
D) () O @) @)
40. Match the following coastal resorts with the following countries :
List - I List - II
(Coastal Resorts) (Countries)
(a) Malaga (i) USA
(b) Mombasa (i) Italy
() Rimini (iii) Spain
(d) Santa Barbara (iv) Kenya
code : @ @) () ()
A) () @) 0 )
B (i) (v) @ 0
© (v @) @) 0
D) () () @) )
41. Match the following :
List - I List - II
(National Parks) (Countries)
(a) Chitwan (i) Nepal
(b) Mount Cook (i) New Zealand
(c)  Wood Buffalo (iii) Canada
(d) Peak District (iv) England
code : @ () (© (4
@A) (v @) 0 G
® () O @) ()
© O @) (v ()
O () ) @) @)
D -9305 16
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42.

43.

44.

Match the following :
List - I
(Name of Temples)

(@) Jvalamukhi

(b) Swami Ayyappa

(c) Bhadrachalam

(d) Amarnath

code : @ (b) (d)
(A) (i) (@) )
B ((v) (i) ()
© Gi) @) O
D) @) (@) @)

Match the following :
List - I

(a) Wonderlust @)

(b) Sunlust (ii)

(c) Tourist (iii)

(d) City hire (iv)

code : @ (b) (d)
@ O )
B (i) () ()
© (v @)
D) Gi) @) 0

Match the following :
List - I
(Years)

(a) 1904

(b) 1911

(c) 1919

(d) 1927

code : @ (b) (d)
(A) i) () @)
® () () (i)
© Gi) @) O
D) (v) () (i)

D -9305

List - IT

(Place Names)
(i Jammu & Kashmir
(i) Himachal Pradesh
(iii) Kerala
(iv) Andhra Pradesh

List - II
One who makes tours
One who prefers longer stay

Deluxe clients

One who visits unknown places in exchange of known places

(d)

(iii)

()

(iii)

(iv)
List - IT
(Associations)

i)  Automobile Association of South India

(

(i) Western India Automobile Association
(iii) Automobile Association of Eastern India
(

iv) U.P. Automobile Association

18
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45.

46.

Match the following :

List - I List - II

(Organizations) (Countries)
(a) ASTA i) Rome
(b) UFTAA (i) New York
(©) WATA (i) San Francisco
(d) PATA (iv) Geneva
code (@ (b) (o) (d)

(A) @) G @ (v)

(B) () @) (i) (@)

© @) @ (@v) (i)

(D) () Gv) @) (i)

Read the following passage carefully and select the most appropriate answer given at
the end. (Q. 46 - 50) :

Trade fairs are among the most memorable events that take place periodically
with the purpose of promoting sales, launching new products, bringing together
manufacturers of a particular line of products and educating the public. They are held
at all levels international, national, state and district. Most prominent among them are
the fairs like India International Trade Fair, World Book Fair, World Trade Fair,
Information Technology Fair, Electronic Trade and Technology Fair, Textile Fair, Auto
Expo, etc. The Trade Fair Authority of India has been playing a commendable role in
this respect. Sales promotion is no doubt the most important purpose of these fairs.
Bringing together the largest possible number of manufacturers, suppliers, buyers and
potential buyers at a particular place and for a fixed period, they promote the products
in the most effective way. They offer a unique opportunity to manufacturers and
suppliers to display their very best and the buyers to view all that they have been
looking for. Of course, organising trade fairs, is, indeed a very tough job.

The trade fairs are memorable events as they :
(A) Create awareness about the products in the public

(B) Create awareness about the products to the public and gives an opportunity to
the sellers for display

(C) Promote sales of the particular product

(D) Bring revenue to the industry & seller.

D -9305 20



45.

46.

SR

et - 1 (§7e) e - 11 (37)
(@) TTEAY @
(b) FTHATT (ii) =gaATh
() THTITY (iti) §F TAf~Eh!
(d dudw (iv) Toman
w: @@ () (o (d)

(A) @) @) @ (@)

B) G) @@ @) (v

© @) @@ @v) (i)

(D) @) @Gv) @ (i)

FrAfeiad uTe ol &I Ydieh g aem 3id | U T Sl § § waiteeh Suer S e |
(U9 46-50) :

IR Wl 1 TS Uk T ¥ § | S7ehT STSH 999-903 T fohan S €1 57
IS 29 €« foena, el Saurel ol IR § Yo SR o oF, TRt o ot & Sl &
froiarell =1 T 9 W, den @l ol fafie Sael & gfa Rifia s g Sriem
s, T, T qen T enfe wee Tl W T St ¥ U@ Al § wqE ® sted
TR HR, 3T Tl o1 | 39 faun § g W e itk e st qfteht A @
T M9 ®9 9, 37 Hell 1 Hearqul 339 ot e ¥ 1w fod wum W w9 & feg
FrrofareH, Scareeni, stafdendtsti, hareli R Jret shatsti ol it Hen § gl w3 7o
SEG! o UeEE § weita ofien v g1 fmfarett aen smgfdeated @i oot 9o SR &
ST ST HT AT heAISA hl ST TATHS TG B B H TG ST SR e ¥
IR Al 1 SESH :5e8 T ®isd & 2

TR Hel TR T § &= fh 3
(A) T H IR o U STeehdr YT i ¥ |

(B) i H e} % Ul STeehal U e € qel farsharsii w1 Scurel o UeE % ST YeH
HW §

(C) ot Seure o =t farsht s)gM 1 el & )
(D) ST qen fasharedl 1 eF-ene i |
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47. According to the author, the main objective of international trade fairs is to :
(A) Bring together manufacturers and suppliers of different products

B) Arrange for sale and purchase of products

Gain public trust and confidence

Promote tourism across the globe

48. The trade fairs are organised for :

(A) Industrial products

(B) Consumer products
(C) Products of natural resources
(D) All the above

49. The trade fairs can contribute for industrial growth :
(A) By creating an opportunity for sales promotion

B) By giving discounts on prices

By launching new products

By educating the customer

50. The exact idea conveyed by the author through the passage :
(A) Trade fairs can give more powers to the industry
B) Trade fairs enhance the reputation of companies
Trade fairs are creators of opportunities for business growth

Trade fairs can help the development of people

-00o0-
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47.

48.

49.

50.

TEF F ITTAR HTWHI AR Al 1 3L ©

(A) fafis 3R] o fmfaisti qen stafderdisi i Tk | @M |

(B) 3<UIGI o ShA-forsha i =aee Al
(C) @ri o1 favams SR ™ it e
(D) 9O gf7a H wie &l g

_ % fou AR gl 1 A foRa S )
A) 3iEfE e

B) SUHEI SR

YIhiceh GETEAT & 3cag

ST Feft

IR el Sifires faee # 4 € Hehd 21

A)  TIRI-T=ET 1 TTHR ISH
B) iTdl | BC IR

FA IAET D! TSR H AT
SusiET i frfard &

3URfefEd 3501 | e ol ardfas Haed ¢
(A) AR Hell g S o1 SAfereR StfuehR e ¥
B) MR el FHHT i Ifawl s &

(
(C) SAMR U] =@ § gfig % TR Sueedl i &
(

D) AR 9ol ANl o faehr | Semern o gehd ©
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